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QUESTION 1

While setting up an AXIS Q7404 Video Encoder for control of an analog PTZ using Pelco D protocol, you run into a
problem. After uploading of the proper Pelco drivers into the AXIS Q7404 Video Encoder you find that channel 1 is
controlling the wrong analog PTZ. Which option below would you adjust to fix this problem so you can avoid changing
physical cables?

A. IP address

B. Device ID

C. Baud rate

D. Device type

Correct Answer: B

QUESTION 2

Which is an advantage of the H.264 compression standard?

A. Bandwidth and storage usage is independent of the amount of motion in the video

B. Compared to Motion JPEG. H.264 video reduces the CPU load when viewing the video

C. In most situations, compared to Motion JPEG. H.264 video reduces bandwidth and storage usage
D. The intra-frame coding makes the video less sensitive to network dropouts

Correct Answer: C

QUESTION 3
Which is true about P-iris?
A. The P-iris makes use of a novel p-shaped blade that reduces complexity and cost while maintaining image quality

B. In bright situations. P-iris limits the closing of the iris to avoid blurring caused by diffraction when the iris opening
becomes too small

C. The P-iris delivers the optimal depth of field by always using the smallest possible aperture for the available lightning
D. The P-iris makes use of a novel p-shaped blade that allows the iris to react to rapidly changing lighting conditions

Correct Answer: B
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QUESTION 4

A Day and Night camera automatically removes the IR-cut filter for low light operations. In that mode, the camera
becomes sensitive to IR light. Which wavelength is the camera most sensitive to?

A. 850 nm
B. 950 nm
C. 1140 nm
D. 1350 nm

Correct Answer: A

QUESTION 5

To get the best accuracy for a people counting application for customers entering a store, the camera should be
mounted

A. Facing the entrance.

B. Facing the entrance at eye level.
C. Directly above the entrance.

D. Facing away from the entrance.

Correct Answer: C
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